EE x B =

(RM4E3A31BHE)

(BEAL: M)
B B LEE HIEE 'R
I BEEDOE
1. RBVEE
HEHESE 115,556,118 96,049,381 19,506,737
FINE 71,174,808 60,614,466 10,560,342
ALE A 1,252,027 1,219,027 33,000
SUEREY) 94,096 114,361 A 20,265
BT SR 152,998 95,547 57,451
L EEES A 412,609 A 369,982 A 42627
" OB E E & FH A 187,817,438 157,722,800 30,094,638
2 EEEE
(1) EREAE 0 0 0
EARBESS 0 0 0
() EEE
BEHE5IHEE 52,430,785 38,800,530 13,630,255
BIMERG | L& E 7,639,385 16,469,640 A 8,830,255
HmERBEFSINEE 3,300,000 8,100,000 A 4,800,000
HEEERS 63,370,170 63,370,170 0
(3)ZDHEEE E
t&EsR 2,078,977 925,122 1,153,855
JYIrHITF 111,961 157,865 A 45904
B ARBE TR 481,682 562,995 A 81313
BEEMAE 375,233 375,233 0
RiLE 8,218,080 8,218,080 0
RS 220,000 580,000 A 360,000
TOMEEEESET 11,485,933 10,819,295 666,638
£ & E & & B 74,856,103 74,189,465 666,638
3 B a it c=(@A+B) 262,673,541 231,912,265 30,761,276
I 8EOR
1. RBEE
FiLE 35,237,810 20,428,086 14,809,724
FILEA 2,426,640 2,444,969 A 18,329
E55|4E 10,390,000 7,440,903 2,949,097
EANEBFES EE 70,000 70,000 0
m B & /& & & D 48,124,450 30,383,958 17,740,492
2 EEEE
REBHE5IH5E 52,430,785 38,800,530 13,630,255
HERBEFSIHE 3,300,000 8,100,000 A 4,800,000
£ A & & & E 55,730,785 46,900,530 8,830,255
a &' = it F=(D+E) 103,855,235 77,284,488 26,570,747




(B M)

7 B LEE HIEE 'R
I IERKRBIEDED

1. $EEIERREARE
¥E 7€ IERRBABE 0 0 0
ObEKRFE~NDIELEE) (0) (0) (0)
OB EEE~DFTLEE) (0) (0) (0)

2. —PRIELREAZE
—ARIERREAE 158,818,306 154,627,777 4,190,529
ObEKRHE~DFTLEE) (0) (0) (0)
OB TEEE~NDIELEE) (7,639,385) (16,469,640) (A 8,830,255)
IE Bk B E & & G 158,818,306 154,627,777 4,190,529
BEERUVELKEBESITH H=F+6 262,673,541 231,912,265 30,761,276




